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Trohd w1 B 2

(1) @agaamﬁﬂﬁﬂéwfw e, &l 98
Ladl

(2) AUHH T 98 WE S Sg I T b fAg
ElIFdY

(3) d7 Wifieh TIH &l Th S99 &l 2

(4) g & waiaro 4 gt Jfaes s

frfafed 3 @ ®F- w s 9w 2 2
(1) O

(2) SO,

(3) CO,

4) CO

qHAIEeSd H, IWH % fashdietn R aTfvash
e <l fegf o fefafaa 4 @ 9w o=
AT & & H HE HLAT B ?
(1) ATt
(2) Fe
3) «Cl
(4) A
forear 3t foa@ et weme ST B 2
(1) 22373
(2) 16 faarr
(3) 213w
(4) 53
Frafafaa stieet & frm yor o1 wiitfeafasdh ftfirs
e feRa ST 2
foeffore SusieraT : 120 g
i UM : 60 g
1fHeh 3cUgeh : 10 g
(1) Stemmn 1 e fRifrs
(2) T @ e flfis
(3) ol w1 fRfdg
(4) SeETT 7 e e

Fefadt & o s B 2

(1) Uk 3TaE ¥ AT & AW aral i q&
(2) ETE I BISH I safeAT hl T

(3) S

(4) FIL

Niche is
(1) the functional role played by the organism
where it lives

(2) the range of temperature that the organism
needs to live

(3) the physical space where an organism lives
(4) all the biological factors in the organism’s
environment

Which of the following is a secondary pollutant ?

(1) Oy
@ SO,
3) CO,
4) CO

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1) Oxygen
(2) Fe
3) Cl
(4) Carbon

World Ozone Day is celebrated on

1) 22" April

(2) 16th September

(3) 21 April

4 5% June

What type of ecological pyramid would be

obtained with the following data ?
Secondary consumer : 120 g
Primary consumer : 60 g
Primary producer : 10 g

(1) Upright pyramid of biomass

(2) Upright pyramid of numbers

(3) Pyramid of energy

(4) Inverted pyramid of biomass

Natality refers to

(1) Number of individuals entering a habitat
(2) Number of individuals leaving the habitat
(3) Birth rate

(4) Death rate
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10.

11.

12.

13.

‘STmaeE’ fohdeh gRT IcdTfed BId & 2
(1) AR g/
(2) SAFYFHHH g

(3) ¥ fawsa g

(4) TR favrsa g

AT F srdueell wfagfa &1y we wewem

foper gurfen T o ?

(1) foump 4

(2) ue" H

(3) Siamy ¥

(4) FaH T

@g gua &l g

(1) She™ Jehd qAT JAgd AHS — oo U

(2) e NeEd IR Uh. WEd — 757 dl3a9

(3) Iche BW M Wi =w - Al

(4) T S _ P @

ffafed & ¥ sR-W W ® Siewd & w9 Od

IiEferd e | HeTEeh e g3l ?

(1) TR

(2) defia Te=a

(3) TGA™ aTeT F=d: A

(4) W fohe

fferfga & @ sia-a1 W 7e77 w9 ¥ gAfad B 2

(1) A.w=. 7= . "l

(2) XO YR formr frufor . fegan

(3) ABO T aigd . HEYHTfeT

(4) T H HE GIATI : a'gﬁ%ﬁh_crq"}

Frafefga & @ formad oo Sfiem = § Faa T a1

&l g5 BT @ 2

(1) odrar

(2) ™

(3) hegd

(4) g Tfisfia

@gt ®e[ o g

(1) IRSHHY I TN TH. FeeaH 3 61 off |

(2) TATSEATEIN TG H I & & |

(3) Wi o u fofew dmfes g foefaa fomn e
o |

(4) “Tgaar weg w1 T Shefor TerEa F T |

10.

11.

12,

13.

Offsets are produced by

(1) Parthenogenesis

(2) Parthenocarpy

(38) Mitotic divisions

(4) Meiotic divisions

The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Virus

(2) Plant
(3) Bacterium
(4) Fungus

Select the correct match :

(1) Francois Jacob and
Jacques Monod

(2) Matthew Meselson

Lac operon

Pisum sativum

and F. Stahl
(3) Alfred Hershey and - TMV
Martha Chase
(4)  Alec Jeffreys — Streptococcus
pneumoniae

Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Sporopollenin
(2) Oil content

(8) Cellulosic intine
(4) Pollenkitt

Which of the following pairs is wrongly
matched ?

(1) T.H. Morgan Linkage

(2)  XO type sex Grasshopper

determination
(3) ABO blood grouping
(4) Starch synthesis in pea

Co-dominance
Multiple alleles

Which of the following flowers only once in its

life-time ?

(1) Papaya

(2) Mango

(3) Jackfruit

(4) Bamboo species

Select the correct statement :

(1) Transduction was discovered by S. Altman.

(2) Spliceosomes take part in translation.

(83) Punnett square was developed by a British
scientist.

(4) Franklin Stahl coined the term “linkage”.
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14.

15.

16.

17.

18.

19.

20.

21.

Tiiesft |feyy fpmm v o 8 2
(1) VA o7 & afspaor §

(2) Sfarupst § veoq §

(3) @t giewrsti & s H
(4) oH1 A o HAUHA I

I TS TORET T JFRU fohe TTaTe H TR
qaTg ?

(1) gmug

(2) HTCT(sRH

(3) fgue

(4) TYIE

Tt <1 nifasfierar ferad wenfaa 787 gt 2
(1) CO, Higar &

(2) O, Higal &

(3) THW A

(4) qOEE A

o o ot § Y A B B 2
(1) BIThHR
(2) IEAEHR
(3) JFRThR

(4) SIATHR

fafafigs 9 -1 T THR-EITANT Hl TR

SANTshT T 3cUTE 75T & ?

(1) Oxygen

(2) NADPH

(3) NADH

(4) ATP

Ffreeh & fore Freferfiad & & w1 @& 2 2

(1) I8 TEHd RNA HIA90r 1 fspamsfier <ot
2

(2) FE AP S H W I B |

3) wmaftmEag

(4) fowfia Bt Sifdmmreti § 92 Hfe® 2 & |

ffefaa § & Si-A1 T qechegehl 7@T @ ?
(1) sREeIRET

[

(2) TEelH
(3) AEHIFFIRTH
(4) FFoarsdiT

IR % 1 AfereIfiTe SrIicHS THg HH-9 8 2
(1) FEia iR gEgifea

(2) wEiHA 3 BEhe

(3) hraier 3 A

(4) grseiead R Afye

14.

15.

16.

17.

18.

19.

20.

21.

The Golgi complex participates in
(1) Activation of amino acid

(2) Respiration in bacteria

(3) Formation of secretory vesicles
(4) Fatty acid breakdown

The stage during which separation of the paired
homologous chromosomes begins is
(1) Zygotene

(2) Diakinesis

(3) Diplotene

(4) Pachytene

Stomatal movement is not affected by
(1)  COg concentration

(2) Og concentration

(3) Light

(4) Temperature

Stomata in grass leaf are

(1) Barrel shaped

(2) Rectangular

(3) Kidney shaped

(4) Dumb-bell shaped

Which of the following is not a product of light
reaction of photosynthesis ?

(1) Oxygen

(2) NADPH

(3) NADH

(4) ATP

Which of the following is true for nucleolus ?

(1) It is a site for active ribosomal RNA
synthesis.

(2) It takes part in spindle formation.

(3) Itis a membrane-bound structure.

(4) Larger nucleoli are present in dividing cells.
Which among the following is not a prokaryote ?
(1) Oscillatoria

(2) Nostoc

(8) Mycobacterium

(4) Saccharomyces

The two functional groups -characteristic of
sugars are

(1) carbonyl and hydroxyl
(2) carbonyl and phosphate
(3) carbonyl and methyl

(4) hydroxyl and methyl
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22.

23.

24.

25.

T I H & TE Hel o TqR 11 Hel 3 e i
IR = for wu fasmedt & @ @t faswew &1 =

HIT :

&y I &y 11
a. UQUEE i 9 qiedi o Sl
U 1 Teh LI |
b. el i, e ° Ui g |eft s
1 fafergeeh UM d g 3R
T Tga 6 grgar & forg
e quiH X BT TH A |
c. UURAE il VT ¥AM &l I1eT AT I
@Rt 37T TR T W
Ofud R TET ST R |
d. duE  iv. e Y S s g
(SheTeAtT) 3T 37 foehe B1d & S
faftr afent <t vgem & °

TES 2d & |
a b c d

1) i v i ii
(2) i iv il i

(3) i il i iv
4) i iv i il

frfafad 8 @ ®F-T1 777 w9 ° gafa g 2

(1) THHIRR S —  FART

(2) S T — TR

(3) foopemfyrs =weiomy) — R e

(4) TUHPIMHR JUh  —  GHTGEHNATT
e & @ forad omeaead aun sdeifawsH
% q¥ETq SeY] SfEsiid ®9 § 3099 8 8 ?

(1) @S

(2)  iRwE

(3)  a7reeRar

(4) =GR

guer WrTehvT fered g 8 2
(1 T

(2) ™

(3) TEHhd

(4) T

22.

23.

24.

25.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I

It is a place having a

Column I

a. Herbarium i.
collection of preserved
plants and animals.

b. Key ii.  Alist that enumerates

methodically all the

species found in an area
with brief description

aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

d. Catalogue iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of

various taxa.

a b c d
(1) i iv i ii
2) i iv iii i
(3) iii ii i iv
4 i iv iii ii

Which one is wrongly matched ?
Chlorella
Marchantia

(1)  Unicellular organism -
(2) Gemma cups -
(3) Biflagellate zoospores — Brown algae

(4)  Uniflagellate gametes — Polysiphonia

After karyogamy followed by meiosis, spores are
produced exogenously in

(1) Saccharomyces

(2) Agaricus

(3) Alternaria

(4) Neurospora

Winged pollen grains are present in

(1) Pinus
(2) Mango
(8) Cycas

(4) Mustard
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26.

217.

28.

29.

30.

31.

HHE R § €.TH.T. & Th ghg o HavH o g
Freafafaa 8 @ S9-a1 99 am=Ia: S R S
27

(1) pBR 322
(2) A®N
(3) TitarfsHe

(4) ETEE (W9 d15H)

s faeeft st g wrEe it 99 fohen @ e
(wehear) Terarm o e, wrarfy O fored wia A o wHy
¥ foemm g | = from grafea 3 2

(1) sTEwHd

(2) < TSI

(3) Edl FHERT

(4) Co-667

JEUSER FFET IR WSl grn et g W 3wk
At <t fomr srgmfea 6 StawEei % 3w w1 oF
T I 8 ?

(1) Sg-zmyor

(2) S9-31qEeH

(3) wHEEE (9 Twg)

4) Sa-3gE

&gt gHel i g ;

(1) ). #ea —  EU
(2 A.w=. 9= —  UTGRHT
(3) Fyx AR b — fg&et shid
(4) TESISTEA S e

UifcTS J@en AMfRAT (PCR) | =N &1 @&l A
Q2

(1) foepdieto, oo, foao

(2) Toepdieto, fowao, swieH

(3) oFieH, faeaw, fopdient

(4) fowawon, fospdieton, SieH

e 39T % fw eafieRd: wuaia el %
YA % IR B GRET % GeATehd o (oI YR H -7
TS IR B 2

(1) Tgafes fEiteh qoe afiafd (GEAC)
(2) 3TAf Yi=ETe gaydH Afdfd (RCGM)
(3) awfeh v et srgHa™ uftyg (CSIR)
(4) YRR I sigEy™ afwg (ICMR)

26.

217.

28.

29.

30.

31.

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1) pBR 322
(2) X phage
(3) Tiplasmid

(4) Retrovirus

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(1) Basmati

(2) Lerma Rojo

(8) Sharbati Sonora
(4) Co-667

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(1) Bioexploitation
(2) Biodegradation
(3) Biopiracy

(4) Bio-infringement

Select the correct match :

(1) G. Mendel — Transformation
(2) T.H. Morgan — Transduction
(3) Fyx Recessive parent — Dihybrid cross

(4) Ribozyme — Nucleic acid

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(1) Denaturation, Annealing, Extension
(2) Denaturation, Extension, Annealing
(3) Annealing, Extension, Denaturation
(4) Extension, Denaturation, Annealing

In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

(1) Genetic Engineering Appraisal Committee

(GEAC)

(2) Research Committee on Genetic
Manipulation (RCGM)

(3) Council for Scientific and Industrial
Research (CSIR)

(4) Indian Council of Medical Research (ICMR)
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32.

33.

34.

35.

36.

37.

38.

HIRTHT va@T & NAD* 6t yfirst 51 2 2

(1) g%mmaﬁaw%mwﬁﬂséﬂah e
|

(2) g’gq.ﬁﬂﬁ. ol o T s fFaEiene |
|

(3) UE U Sia aTEsh o &Y § hE HdT B |

(4) I8 T T~A13H o &9 § S Ll 8 |

f=fefiga @ @ -9 9ew vy H T G S Gy

uE fiehe TFary quiian B, [TEH i ol Toh-gat o for

YT Sfte =15k U1 787 L TRl ?

(1) Fr=er
(2) el

3) FFH
4) FTElen

T HUT HT TR § aNT o U g@ ATsgeH § fa

AU W HUSROT {3 T Fehal B 2

(1) -160°C

(2) -196°C

(3) —-80°C

(4) -120°C

qredi gl A8 1 sy fefeifiga § @ foem w9 @

BT ® 2

(1) s 3R %g gt

(2) Had

(3) &

(4) i

ey = = g 2

(1) I Gord IR e

(2) G T IR I Th 37 o Y T

(3) Tk T I I gl YA hrgehl o H1Y HATH

(4) Th T FEA G R IwR w A IS
1Y qAad

Terem gehTII-EYeINYT § StiESH 77 ekt 2

1) &7

(2) TIsHg

(3) il

(4) 9 Tew SFAfET

frafaflga @ @ 9o 9@ FifveRt § whfq |

T@- o fog ITeerf 7 2

(1) Ffcwrm

(2) urefrEm

(3) wifsTm

(4) wifEm

32.

33.

34.

35.

36.

37.

38.

What is the of NAD* in

respiration ?

role cellular

(1) It is the final electron acceptor for anaerobic
respiration.

(2) It is a nucleotide source for ATP synthesis.
(8) It functions as an electron carrier.

(4) It functions as an enzyme.

Which one of the following plants shows a very
close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(1) Viola
(2) Banana
3)  Yucca

(4) Hydrilla

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -160°C

(2) -196°C
(3) -80°C
(4) -120°C

In which of the following forms is iron absorbed
by plants ?

(1) Both ferric and ferrous
(2) Free element

(3) Ferrous

(4) Ferric

Double fertilization is
(1) Syngamy and triple fusion
(2) Fusion of two male gametes with one egg

(8) Fusion of one male gamete with two polar
nuclei

(4) Fusion of two male gametes of a pollen tube
with two different eggs

Oxygen is not produced during photosynthesis by

(1) Chara

(2) Cycas

(3) Nostoc

(4) Green sulphur bacteria

Which of the following elements is responsible for

maintaining turgor in cells ?

(1) Calcium

(2) Potassium

(3)  Sodium

(4) Magnesium
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39.

40.

41.

42.

43.

44.

45.

yaeA-e fore Bt § 2

(1) omH Segg §

(2) WERR 9Ed ¥

(3) TIdA-3ATTH ARG H

(4) SaUTEgYE |

AT B Bl AT

(1) #AU hl Sewt gt Sasdr i wifderr d
YA UTEHTE Teh SR @ |

(2) TARUSISHEl | ey el T e T80 Hid h
AT 2 |

(3) BFhI 1 Ty SfEfeTHEHAT T R |

(4) hdehl 3N UEY G o Hewd § hifsrenr i
3IufErd Bt 2 |

feeiosht @ o fedfiaes seem it wien frud Sauw
A8 ?

(1) wefiF fawsn

(2) <hFNH

(3) Tagd wdl

(4) e favysan

STehTehe TohEehT YT 8 2

(1) g

(2) w8 HA

(3) sTaETie g

(4) @

Fr=fefiga @ @ ®F-91 %9 &g ® 2

(1) @rE%g AR [Fgg g T FIEREn ad AEd
B2 |

(2) TEe™ IFAFasS 7 |

(3) fRrcifoder tw fawmelem aen 7, @
GodlfF97 T THSIST] 9Tl 7 |

(4) sl # sfive svenm U gw ufeg
& = |

et afgai sl gl § ?

(1) IF=Eca=

(2) dohe

(3) i

(4) STIca=

I8 ed -8 & o T afyg oid o faepar @

Breft 2

(1) HsheH

(2) wFud

(3)  ofarelt aTareefisit

4) wE

39.

40.

41.

42.

43.

44.

45.

Pneumatophores occur in

(1) Submerged hydrophytes
(2) Carnivorous plants

(3) Free-floating hydrophytes
(4) Halophytes

Select the wrong statement :

(1) Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

(2) Pseudopodia are locomotory and feeding
structures in Sporozoans.

(3) Mushrooms belong to Basidiomycetes.

(4) Cell wall is present in members of Fungi
and Plantae.

Secondary xylem and phloem in dicot stem are

produced by

(1) Axillary meristems

(2) Phellogen

(3) Vascular cambium

(4) Apical meristems

Sweet potato is a modified
(1) Rhizome

(2) Tap root

(3) Adventitious root

(4) Stem

Which of the following statements is correct ?

(1) Stems are usually unbranched in both
Cycas and Cedrus.

(2) Horsetails are gymnosperms.

(8) Selaginella is heterosporous, while Salvinia
is homosporous.

(4) Ovules are not enclosed by ovary wall in
gymnosperms.

Casparian strips occur in

(1) Endodermis

(2) Cortex

(3) Pericycle

(4) Epidermis

Plants having little or no secondary growth are
(1) Cycads

(2) Conifers

(3) Deciduous angiosperms

(4) Grasses
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46.

47.

48.

49.

50.

51.

et % fuvs gera: foress a4 310 8 2
(1) god TsaE™ w6 RER

(2) e 3 g SER

(3) DNATE RNA

(4) N w fafrs

TH § SHH-AT HIH TAT & ?
(1) STfoeieholl HIEHINGIRTUT FFRUGRT i a1
ot dafea gar 8 |

(2) TARHIAGE q d% BIaT & T Ik U FEGISH
AT ST I3M o foty NAD firerdn & 2 |

(3) TTSHICIRAH ShIfTeRIfaer  Hu Biel 3 |

(4) TCA =3k % THASH GAHOTRN o oae #§ feua
2§ |

9% ¥ TEHEH ThH mRNA & Heg gkl Tham

UIfURTES S H3 WiaAl SHId & | TgEEE hl UE

AT %! FIT Fad 8 ?

(1) Hfgwm

(2) Tarfeee™

(3) wgdey fuvs

4) wEE

frafafga & @ -8 wionfys wee ame Safa=m
! T Hid & ?

(1) vwecd!, foawed!, fawmedt

(2) UREGT, THaRGd!, HHEd!

(3) e, fgamad, fowmed

(4) e, foamEd, e

% USTfsHs e (RER) ¥ ffafea & @
HH-H T 7T Bt ?

(1) WIEhIffie Sy

(2) Hehd UTSS 1 fage

(3) I 1 TAZHIATA

(4) A 1 I

e T =1 == Hifw

(1) =599 T — UfFhfaeAl & Iie®
(2) IUHEIhRY R — L-3ThRI TR
(3) UaEm — for T

(4) owgw RE - foue b gl

46.

417.

48.

49.

50.

51.

Nissl bodies are mainly composed of
(1) Free ribosomes and RER

(2) Nucleic acids and SER

(3) DNA and RNA

(4) Proteins and lipids

Which of these statements is incorrect ?

(1) Oxidative phosphorylation takes place in
outer mitochondrial membrane.

(2)  Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

(3) Glycolysis occurs in cytosol.
(4) Enzymes of TCA cycle are present in
mitochondrial matrix.

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of ribosomes are
termed as

(1) Nucleosome

(2) Plastidome

(3) Polyhedral bodies

(4) Polysome

Which of the following terms describe human
dentition ?

(1) Pleurodont, Diphyodont, Heterodont

(2) Pleurodont, Monophyodont, Homodont

(3) Thecodont, Diphyodont, Heterodont

(4) Thecodont, Diphyodont, Homodont

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1) Phospholipid synthesis

(2) Cleavage of signal peptide

(3) Protein glycosylation

(4) Protein folding

Select the incorrect match :

(1) Polytene
chromosomes

Oocytes of amphibians

(2) Submetacentric
chromosomes

(3) Allosomes

(4) Lampbrush
chromosomes

L-shaped chromososmes

Sex chromosomes

Diplotene bivalents
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52.

53.

54.

55.

fferfaa & @ wi-an g Wi sret & ogeqe B
2?

(1) ufeesta

(2) UL

(3) UHEEEH

(4) A

frefafea @ @ S T ter &9 3T S 4@
77T &9 9 Ifa g ?

(1) 4Y FeAgH  : o0 Tg ¢ gHiEqsh Mot

1 Sie I dgedt hl v |
: Towiem gfHET o1 3eated T
AT, G AT AT T

T & |
: g3 o & S Hieash &
fafirer &= <hl s19g § Sed
8, 7 w1 Fror s |
= ffa & |

(2) TENSTHT

8) foafas o=

(4) TS ITSATN

fafafea & @ frw smlm & sfegea & e
{Hh & ?

(1) UUTEUES BHMA T Fiifaed

(2) TEISH Td HATRIES BHH

(3) ISR Td VeeIeelH

(4) TSI T reifaed

AFa 99 § yres <u fhEes g 3 T¥H W &l
?7?

(1) veay @ & I fosht Al g

(2) emeiE & S fush ofdm g

(3) o™ ¥ I8 wsT g

(4) vEEY HE A IS TGS gRT

52.

53.

54.

55.

Which of the following is an amino acid derived
hormone ?

(1) Estriol

(2) Estradiol

(38) Ecdysone

(4) Epinephrine

Which of the following structures or regions is

incorrectly paired with its function ?

band of fibers
connecting left and
right cerebral
hemispheres.

(1) Corpus callosum

(2) Hypothalamus production of
releasing hormones
and regulation of
temperature,

hunger and thirst.

consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

(3) Limbic system

(4) Medulla oblongata : controls respiration

and cardiovascular
reflexes.

Which of the following hormones can play a
significant role in osteoporosis ?

(1) Parathyroid hormone and Prolactin
(2) Estrogen and Parathyroid hormone
(3) Progesterone and Aldosterone

(4) Aldosterone and Prolactin

The transparent lens in the human eye is held in
its place by

(1) smooth muscles attached to the ciliary body
(2) smooth muscles attached to the iris

(3) ligaments attached to the iris

(4) ligaments attached to the ciliary body
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56.

57.

58.

59.

60.

T o1 I Tedl g3 e J

(1) Y safse Sem sAfseai ¥ %A 8d 8 |

(2) W TE SHAYE Afe @' § SUet '
g1

(3) ST SAfSe ST SAfsel & H Bid 7 |

(4) YE A S SAfseai & 1M Bd € |

T I H < TE Al o &R 11 hl Hel § e hifs
I = for T fasmedt § @ @t faswew w1 WA

Hifa
&y [ &y 11

a.  gUmN i. UV-B fafert

b. &fed oefha i, S

c. Temrad (VN sEeE) il 99 dgig

d. FuEd iv. smufirse faem
a b c d

1 i ii iv iii

(2) i iv i ii

(3) i iii iv ii

(4) i i iii iv

“Thiep” THe g UIEAT 919 o fohE W § WTed Bl B 2
(1) ufaai @

2) weid

(3) WHH

(4) | "

frfafea & @ faferean fagm o yfosfas % seae
fou wwfee i HH- aredfes fhar sgar W
STt B 2

(1) s

(2) OESHferan

(3) WRITINGT

(4) @B

frfafea § 9 SF-81 SeRd™ W § 787 o1 ?
(1) s d%

(2) aEfdeh 3T

(3) dfad 3qaq

(4) TSfT aHHl qrh

56.

57.

58.

59.

60.

In a growing population of a country,

(1) pre-reproductive individuals are less than
the reproductive individuals.

(2) reproductive and pre-reproductive
individuals are equal in number.

(38) reproductive individuals are less than the
post-reproductive individuals.

(4) pre-reproductive individuals are more than
the reproductive individuals.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
1 i ii iv iii
(2) iii iv i ii
3 i iii iv ii
4) i i iii iv

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Leaves
(2) Roots
(3) Latex
(4) Flowers

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(1) Amensalism
(2) Parasitism
(8) Mutualism

(4) Commensalism

All of the following are included in ‘Ex-situ
conservation’ except

(1) Seed banks

(2) Botanical gardens
(3) Sacred groves

(4) Wildlife safari parks
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61.

62.

63.

64.

frafafga @ 9 ®H-H 5 Fifyed a9 9
T3 § Wgg hidl & ?

(1) T wified

(2) A (Tecie) IR

(3) ToISHT SHITTHY

(4) YT HIfHT

ey 18 &) 78 Hel o1 w11 1 9ef 8 firem hifvg
IR = few MU fowmewt @ @ @E? famew w1 =

HIT

ey [ &y 11

a.  IESHSH i OO HqeH

b. TAGRH ii. T Yerehl

c W? iii.  wfceen fsanfafe
a b c

(1 il iii i

@2 i iii ii

3 i ii iii

(4) iii ii i

hehTel URf Hepad | hicWaw Haw@qul & ifh I8

(1) ¥R | 8 R Ufded a9 % wed ey
fomfor =67 Trehet 2

(2) UfFe dq @ AEEE oY ol St S § |
(3) T Tt A st 38 fhamsiiel st 2 |

(4) 9T O dyet UfaeT & Tisha TIA & AT
= 82T <1 & WY o fou |

fafafad § 9 saaaRies yau9 faer &1 3w =
?7?

(1) Sraehifa
(2) wiglasH
(3) Tafrerm=ar
4) uwafEE

61.

62.

63.

64.

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1) Parietal cells

(2) Goblet cells

(3) Mucous cells

(4)  Chief cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column 1 Column I1

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

(1) i iii i

(2) i iii ii

3) i ii iii

(4) iii ii i

Calcium is important in skeletal muscle

contraction because it

(1) prevents the formation of bonds between
the myosin cross bridges and the actin
filament.

(2) detaches the myosin head from the actin
filament.

(38) activates the myosin ATPase by binding to
it.

(4) binds to troponin to remove the masking of
active sites on actin for myosin.

Which

respiratory disorder ?

of the following is an occupational

(1) Emphysema
(2) Botulism

(3) Silicosis

(4) Anthracis
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65.

66.

67.

68.

69.

T S & HIfeT 59 H T AGGTATCGCAT 2 |
3% g IFRad mRNA T Helferd shH 1 SR 2
(1) UCCAUAGCGUA

(2) ACCUAUGCGAU

(3) UGGTUTCGCAT

(4) AGGUAUCGCAU

T Tt % Tk X URH § X-HehH IFE 7 | IE R
fope gwTeTa g 2

(1) 9w g gl A

(2) had WAT-gifeR /Art-AfeT #

(3) <had g |

(4) haa g o

ey 18 & 78 93l o1 ward 11 9e § faam i
IR o few MU fawmewi @ @E?t famew w1 W

HIT

&ey [ ey I1
a.  SYUGHId UEEAT i, TYTIR 7% o foere
b. @l gTEE ii. geehr STewn
c. FRgaE iii. drafivg graEen
a b c
(1 i i ii
(2) ii i i
(3) i i ii

(4) iii ii i

M & i & sgEr fowm i frafafy fra yr
Bt 2 2

(1) oY Ieafada

(2) ifireh g9 TEY gitEdq (Seoredt faferrar)
(3) deeIH

(4) SEOT e

90 W HIH-AT ST T 90 TgT B ?
(1) 39

(2) TR

(3) HLEATHS S

(4) Y=TAdh

65.

66.

67.

68.

69.

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) UCCAUAGCGUA

(2) ACCUAUGCGAU

(3) UGGTUTCGCAT

(4) AGGUAUCGCAU

A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be

inherited by

(1) Both sons and daughters
(2)  Only grandchildren

(3) Only sons

(4) Only daughters

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column 1 Column II

a. Proliferative Phase i. Breakdown of

endometrial
lining

b.  Secretory Phase ii. Follicular Phase

c.  Menstruation iii. Luteal Phase

a b c

(1) il i ii

(2) i iii i

3) i iii ii

(4) iii ii i

According to Hugo de Vries, the mechanism of
evolution is

(1) Minor mutations

(2) Phenotypic variations
(3) Saltation

(4) Multiple step mutations

All of the following are part of an operon except
(1) a promoter

(2) an enhancer

(3) structural genes

(4) an operator
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70. fr=fafaa o § w9-a1 fawey e ga1 3K arachifa|70. Which of the following options correctly

] SR zotar 2 2 represents the lung conditions in asthma and
i 1l qﬁ w1 ) B emphysema, respectively ?
(1) vaert wde § wfl; vt § (1) Decreased respiratory surface;
(2) vIu! Tag § 3tirekar; ya@feT § Y Inflammation of bronchioles
st e 6 wfued vaed : (2) Increased respiratory  surface;
) R # "t ’ W Inflammation of bronchioles
. . (3) Increased number of bronchioles; Increased
(4) TR H IMA; TEA FAE H HHT respiratory surface
. 1% & T|'§ w3 1w & f A (4) Inflammation of bronchioles; Decreased

R f= fau frpedi # ¥ @@ fawew respiratory surface
M < CYEEDE]

71. Match the items given in Column I with those in

fore Column II and select the correct option given
Taey I &ary I1 below :
a. Tao SR i. o 3rferg wg =€ e Column I Column II
* o9 a. Tricuspid valve i. Between left atrium
. and left ventricle
b, feeetwue i @i fom v prpdHiE o 3 ,
b.  Bicuspid valve ii. Between right
gut % o= )
ventricle and
c. Adug wUIeH il aifed 3ifeie wd Qe pulmonary artery
Frea & <= c.  Semilunar valve iii. Between right
a b c atrium and right
.. . ... ventricle
(1) 1 i 111
. .o o a b c
@ i oo ® i i i
® 1 @ i i i
@ @i . 3 i o i

72. T I ® < Tg Uel o Ty I < 0el 9 firem hifse (4) iii i ii
3t fiw few U fahedt & ¥ &gt foaew &1 WA

ST - 72. Match the items given in Column I with those in
) Column II and select the correct option given
Ty 1 Ty 11 below :

a. AR A i. 2500 — 3000 fir.=f. Column I Column II

a. Tidal volume i. 2500 — 3000 mL

b.  IA:aEd giEa ii. 1100 — 1200 ..
Inspiratory Reserve  ii. 1100 — 1200 mL

cIRGE]
volume
c. F ﬁ'{'f\&‘lﬁ ifi. 500 - 550 fi.<f. c. Expiratory Reserve iii. 500 — 550 mL
cIRGE]
volume
d. IEfTe A iv. 1000 — 1100 fir. . d. Residual volume iv. 1000 — 1100 mL
a b c d a b c d
1) iv 1ii i i (1) v 1ii i i
(2) i iv i iii 2) i iv i iii
(8) i i iv ii 3) i i iv i
(4) iii ii i iv (4) il il i iv
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73.

74.

75.

76.

il Bl s W % fY S -8 giEE arfed
A B ?
(1)  hCG, YSEEISH, TEISH, THhIhIChTS

(2) hCG, hPL, TSN, TEISH
(3) hCG, hPL, &ieH, ftferam, ffederfam
(4) hCG, hPL, YiSiEeis, Tetfaed

T ‘Trel’
(1) T Ta-AYT THARIGH 2 |
(2) THIUDR |

(3) TGl H TEISH hl Wgdl H FGl B W
STSIcaT hl Ushd! 2 |

(4) TV T TEISH UTEl hl Ta%g hidl & Td 3Tel
o 9T T Tehd! & |

YIS T T (Ffieee) § 7 S @ 2

(1) YhUSHA H b1 S &, Sefh LA H
WHUST H A BN H YHIH
AfcreRtatl i Tfeeht | Hied B 7 |

(2) IRV § SRS T HTell whIfdTeRTsT &
WEhoh AR W TfEept H HEA Bl 3,
Selfeh YEAIIREH H Yh19] s & |

(3) YHUSH H A TG E, T GHRIE A
I 4 3

(4) RS § PRI 5§, elh YohEe §
1] S & |

TR YT o YoreTel f3rght Sow fehwd wedt # 2

(1) Teica= U Jdccardl

(2) YHEISTHER & TYheh
(8) ITqETdT Ud HEISHER

(4) TR Td HEISTET

73.

74.

75.

76.

Hormones secreted by the placenta to maintain
pregnancy are

(1) hCG, progestogens, estrogens,
glucocorticoids

(2) hCG, hPL, progestogens, estrogens
(3)  hCG, hPL, estrogens, relaxin, oxytocin
(4) hCG, hPL, progestogens, prolactin

The contraceptive ‘SAHELT
(1) 1is a post-coital contraceptive.
(2) isan IUD.

(3) increases the concentration of estrogen and

prevents ovulation in females.

(4) blocks estrogen receptors in the uterus,
preventing eggs from getting implanted.

The difference between spermiogenesis and

spermiation is

(1) In spermiogenesis spermatozoa are formed,
while in spermiation spermatozoa are

released from sertoli cells into the cavity of

seminiferous tubules.

(2) In spermiogenesis spermatozoa from sertoli
into the

seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

(3) In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.
(4) In spermiogenesis spermatids are formed,
while in

spermiation spermatozoa are

formed.

The amnion of mammalian embryo is derived
from

(1) ectoderm and endoderm

(2) mesoderm and trophoblast

(3) endoderm and mesoderm

(4) ectoderm and mesoderm
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71.

78.

79.

80.

81.

82.

Frafafaa S=geit & @ SH-8 I FrEmawr 777w 2
(1) RGBT

(2) =Yg

(3) e

(4) g

frefafea & @ SiF-a1 g awardt 787 2 2

(1) Reper

(2) IHTT

(3) @eaT

(4) FPlvg

fafafgd 4 9 S9-8 a&u | St H ggaH qrer
Hiepla ¥ L 8 ?

(1) Tee i 3ufesta

(2) & YaR 3Tews Hled 3 TE

(3) U=O I i Iuredfd

(4) & I @ W AT & AR kI Uy Hi
3uferfa

Frafafed & @ -9 9 7g@rRl § g 3cEsh &
Y W AR ?

(1) FAHEeH

(2) TRHASFIRET

(3) SEeH

(4) SEATRASTCE

%

fafauem s wfi diersert @ form yor fim € 2

(1) 37 @ JHR % Hgeh 84 &

(2) 3 R = gehed & T qrery 1 = i @

(3) T Afdfad art ot Febrem % fore dgpamfia
gt Bt 8

(4) I T & foru Femfirest 1 T a8

FIEH! TR h I gl I TgEE HIHT ST
A 9 ° i w e g srfvrafera €

(1) srifeeaefis

(2) U

(3) difern

(4) UfeRferRm

71.

78.

79.

80.

81.

82.

Which of the following animals does not undergo
metamorphosis ?

(1) Starfish

(2) Moth

(3) Tunicate
(4) Earthworm

Which one
homeotherm ?

of these animals is not a

(1) Psittacula
(2) Camelus
(3) Chelone
(4) Macropus

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1) Presence of anal cerci

(2) Forewings with darker tegmina

(3) Presence of caudal styles

(4) Presence of a boat shaped sternum on the
9" abdominal segment

Which of the following organisms are known as

chief producers in the oceans ?

(1) Euglenoids

(2) Cyanobacteria

(3) Diatoms

(4) Dinoflagellates

Ciliates differ from all other protozoans in
(1) having two types of nuclei
(2) using pseudopodia for capturing prey

(3) having a contractile vacuole for removing
excess water

(4) using flagella for locomotion

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Osteichthyes
(2) Aves

(3) Reptilia

(4) Amphibia
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83.

84.

ey 1 1 € TS 9e o1 wqw 11 6 me) § fem iR
IR f= few MU fowmedi & @ @E? fasey w1 T

I -
Lary [

a. ’E’Bﬂﬁ'ﬂﬁm 1.

Ty I1
et | Ffeh I
HUE B

b. T ii. g § fopeefera @i <
fiug
c. gFhE g iii. =1 H TgEehdT

iv. T3 H To[hIE &1 BT

a b c d
1) iv i ii iii
(2) i iii i iv
3 i ii iii iv
(4) iii ii iv i

ey 18§ < 7 Hel o T 11 6 e & e Hifi

IR i few U fomewi 0§ @E? fawew &1 WA

T ;
&Y [
(F1%)

a. offigen Feed i
b. T 1 HGW ii.

ey I1
(3eGi+ TF BT YTT)

RSN
TaTteft

c. TIAH AWEA il TEE
d. TAREET v, HAUN HOER
v. EHIOEy Hafad At
a b c d
1) v iv i iii
2 v iv i ii
(3 iv i ii iii
4 v v ii iii

83.

84.

Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I Column I
a.  Glycosuria i. Accumulation of uric
acid in joints
b. Gout ii. Mass of crystallised
salts within the kidney
c. Renalcalculi iii. Inflammation in
glomeruli
d. Glomerular iv. Presence of glucose in
nephritis urine
a b c d
1 iv i ii iii
(2) i iii i iv
3 i ii iii iv
(4) iii ii iv i

Match the items given in Column I with those in

Column IT and select the correct option given

below :
Column I Column II
(Function) (Part of Excretory
System,)
a.  Ultrafiltration i. Henle’s loop
b. Concentration ii. Ureter
of urine
c.  Transport of iii. Urinary bladder
urine
d. Storage of urine iv. Malpighian
corpuscle
v. Proximal
convoluted tubule
a b c d
1 v iv i iii
2) v iv i i
3) iv i i iii
(4) iv v il 1ii
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85.

86.

87.

88.

89.

90.

Fr=fefiga et o & 3Iereen § ¥ 7e7d faseq
T =TI HINT :

(1) A9, THTCE Ud AHd i g

(2) <HEE, AT Td <idl 1 AieTsh

(3) =WIGE, A Td =idl &6

(4) Y, TETES T Hidl o SIS

39 % G@ W OBAWU U IR TS UV &l

foreht gfig < wROT B B 2
(1) foafim E

(2) ToeIftd By

(3) faafim A

(4) faafim D
ffafga sfaeon & § HH-8 737 § TR ot
9T’ Sl gWd 8 2

a EI‘HT%TEIT

b.  HESWIfa

c. g A

d.  orqul yufer

e. agsﬂﬁarﬂmﬁr

(1) a,c@e

(2) b,dT e

3) abWWec

(4) b,cQEie
frefaftga & @ sH-a1 Taufawen o 7587 8 2
(1) fafefam

(2) USSR T

(3) ®HII Hitrmy

(4) el

I HIULh o IUE <hl A HEAT H HAMAT
forerenT et @ 2

(1) 3Tgen fafro

2) AfE fowm

(3) deIwydl

(4) GHSITAAT

fre T HesX g W9 T o RO SrEieRt
anfefat o feeprelt Sy 3co= g @ 2

(1) smffatfim

(2) forad o

(3) UwHRURE®

(4) ufahiufa

85.

86.

87.

88.

89.

90.

Among the following sets of examples for
divergent evolution, select the incorrect option :

(1) Eye of octopus, bat and man

(2) Brain of bat, man and cheetah

(3) Heart of bat, man and cheetah

(4) Forelimbs of man, bat and cheetah

Conversion of milk to curd improves its
nutritional value by increasing the amount of

(1) Vitamin E

(2) Vitamin By,

(3) Vitamin A

(4) Vitamin D

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?
a. Dominance

b Co-dominance

c. Multiple allele

d. Incomplete dominance

e Polygenic inheritance

(1) a,cande

(2) b,dande
3) a,bandc
(4) b,cande

Which of the following is not an autoimmune
disease ?

(1) Vitiligo

(2) Alzheimer’s disease

(3) Rheumatoid arthritis

(4) Psoriasis

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1) Adaptive radiation

(2) Convergent evolution

(3) Analogy

(4) Homology

In which disease does mosquito transmitted

pathogen cause chronic inflammation of
lymphatic vessels ?

(1) Amoebiasis

(2) Ringworm disease
(3) Ascariasis

(4) Elephantiasis
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91.

92,

93.

(47 + 4-7) kQ Wity & Foreht Sreq-gfcligs W/, T8gaH
% foru, fafira aurt o ao ifha fopr 5 2 | 3ot wre
%1 567 B

(1) B0 —Ah — S — gaaa

(2) el — &0 — S - gEa

(3) el — st — At — =i T

(4) ST — e — TR — =T o1

‘v’ FIEH Ficgehi 1 qg=, a8 J® 1 gy
‘R 8, ooftspm W fa.a1.sd (emf), ‘B’ 3R 3r=afiish
yfedg, R’ 1 forell St & i@ & | 9 & & T8
g I 8 | 316§ ‘n’ JfaQeehi 1 Uwd A § 3EH S
T gafad foram ST R | @ S Bt S w10 1@
Tt ] | ‘n’ BT HAH B

1 9

(2 20
3 11
(4) 10

g St 3rmaftes gfetiy @ are, Fofishd ¥ Tafod, ‘o’
TdoH Al (T n ufEdt 2) ¥ R R 1 9l %
Tt 1 AR e 9 [ W g 7 | T
HH-AT U6 1 3R n & o= 9 a9y h gtar § ?

I
(1) T
O —n
I
@ 1
(@) —>n
I
3) T i
0) —n
I—
@ !
(@) —>n

91.

92.

93.

A carbon resistor of (47 + 4-7) kQ is to be marked
with of different
identification. The colour code sequence will be

(1) Green — Orange — Violet — Gold
(2) Yellow — Green — Violet — Gold

(8) Yellow — Violet — Orange — Silver
(4) Violet — Yellow — Orange — Silver

rings colours for its

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is L.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

1 9

(2) 20
3 11
(4) 10

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
The
terminals of the battery are short-circuited and

each) which are connected in series.
the current I is measured. Which of the graphs

shows the correct relationship between I and n ?

I
(1) f i

O —n
I
@ !
(0] —n
I
(3) T i
0 —>n
I—
@ 1
(@) —n
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94.

95.

96.

97.

foreht spfsrent gro fafsefa i P 2 e =g aome,
Ay T 3Tfeehan Hat fafeRla w3 | o AR =

SHfSTRT 1 a9 REfia s fen s g, Swe &6 9w
%xoa@ﬁzﬁmaﬁwwfﬁrﬁsﬁamé,a

3% g fafeplta wiferd nP &1 STl @ | n <1 7 BAT

81
256
256
81

(D
(2)
3

4)

g AR U ggred o &4 g SR gEI o Tad ot wum
g | 95 AR 1 STIRY-HE H &THA A 3R gW AR
I FTIEI-HE H FTFA 3A 7 | I 5@ F et
UEe R I AR H AL H glg h I 7, 9@ gE AR
<l awerg § gl & gig H o AT fhdd W Al
JTETAHAT B 2

o |

(1 F

(2) 4F
3) 6F
4) 9F

I g (1:013 x 10° Nm™2) 3R 100°C a9 W
0-1 g I % I &I 100°C ht 919 H giEfda w &
I 54 heldl ST Holl 1 STEYIRAT B B | AR
3O WY H AFAT 167-1 cc B, 9 39 THI H
FNeh Hofl § qiEad &

(1) 845J
(2) 42:2J
(3) 2087dJ
(4) 104:3J

Brse o w1 18 @Y Men formraen @ fordt W ga |
fiRar 8 | ®I9 9 % SRV IHE ST 39 BT B
T & 3ifqw (ffaer) a9 W 3Iae ST H R

frafafea & @ forgeh STIsFTT Bret 8 2
@
(2) P
3) r?
(4) 2

94.

95.

96.

97.

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ao, the power radiated by it

becomes nP. The value of n is

81
256
256
81

(1)

(2)

3

4)

o |

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

1 F

(2) 4F
3) 6F
(4) 9F

A sample of 0-1 g of water at 100°C and normal
pressure (1:013 x 10° Nm_z) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 8454d

(2) 42-24J
(3) 2087dJ
(4) 104:3J

A small sphere of radius ‘r’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1) rt
@2 1°
3) 2
4 1
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98.

99.

firg (2,0, -3) WHH@ ae F = 41 + 5] - 6k @
g (2, - 2, — 2) % wi@: AT B

1) -71-43 -8k

@ -171-8j -4k

3) —4i -] -8k

4) -81 -4 -7k

Toret B = 3TUT T Y g % AE I AT 0-001 em
JCUAHTR AT B IS G I | H&F J9H hl A
5 mm 3R FAF M H I Tl Tad | 25 WA
IR 7 | I TR T § A I — 0-004 cm 7, T g
ST TE S

(1) 0-529 cm

(2) 0-053 cm

(3) 0525 cm
(4) 0521 cm

100. 15 fgam &R @ W Ay q & ot e

101.

fraam B % i et o a4 Te
mW%l@W%WﬁWqE%
HRU TIHT AT 0 H 6 m/s B AT 7 | I 0
farggq-&m i fosn Sopfig o & 9t B | 3@ o8
9T H %R 3N S Fhvg doh Td Kl WAl 7 | 0 &
3 v & o faeln &R & of|a I 3R fed

T A B

(1) 1-5m/s, 3m/s
(2) 1m/s, 3-5m/s
(3) 1m/s, 3mfs
(4) 2m/s, 4m/s

AHd w0 0 & fHH ot I 39 ABC W m
TEIHT T IS sl FETHER T 8 | 39 o I grff
3 I ol ‘@’ fean Sr 8 | sodies @l o W feR

T & T a 3 0 & <= gy g
A
2
a
0
C B
(1) a=gtan0
(2) a=gcos0
_ 8
(@) a_sine
4 a= 2
cosec 0

98.

99.

100.

101.

- A A A
The moment of the force, F =4i + 5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -7i-4j -8k
A A A
@ -17i-8j -4k
A A A
(3 -4i-j -8k
A A A
4 -8i-4j -7k

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0-529 cm

(2) 0053 cm

(3) 0-525cm

(49 0521 cm

A toy car with charge q moves on a frictionless
horizontal plane surfac_e) under the influence oga
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 1-5m/s, 3m/s

(2) 1m/s, 35m/s

3) 1m/s, 3m/s

(4) 2m/s, 4m/s

A Dblock of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6
for the block to remain stationary on the wedge
is

A
2,
a
m\
C B
(1) a=gtan®6
(2) a=gecosH
g
3 =
@ a sin 0
4) a= 8
cosec 0
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102. Fré Fre b @ et mem H A V = v @

T W@ g | TR e su foRpq-greshi qtn W
foga-am 9o +y oW F ofewm B | d@
forga-grashia Tl o FEeehid & g ohi fewm Bl
(1) -—xTesm

(2) —yfeum

(3) +zfeam

(4) —zfem

103. foreht T o yard 1 sqadies /2 3 S50 1 &v

30° 2 | fem & @ omads gt ¥ @ wh W =i
TeTeRt i 1 T I AR T 2 | G HAE |
TOST T I ThaUT JeRTeT W1 his G (U1 aTel I8
T WEfdd g & IvEr) 3§ U W I ol S,
afe fsw W T o 1 9 2

(1) I

(2) 30°

(3) 45°

4) 60°

104. et 906 8 60 mA 1 9N JaTfed S W 38 Wk §

Gfea gresh feafast St 1 91 25 md 3 | 30 W
T Thed B

(1) 13-89H

(2) 1389 H

(3) 13888 H

(4) 0138 H

105. 15 for 15 cm BA g % FFE s@aa gow &

40 cm g0 W fer@ 7 | 9fE 39 forest w1 gdur <At fown 4
20 cm TIMETARG T feanm W, df wfafers fohdt gt
T foreenya &1 smem 2

(1) 36 cm YOI % 918
(2) 30 cm TYUT % UTH
3) 36 cm?ﬁ'ﬂTﬁa;{
4) 30 cm_CZqEUT@E;{

102.

103.

104.

105.

An em wave is propagating in a medium with a
velocity ;)7 = V/i\. The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1
(2)
(3)
(4)

— x direction
— y direction
+ z direction

— z direction

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence
on the prism is

(1
(2)
3)
(4)

Zero
30°
45°
60°

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the
inductor is 60 mA. This inductor is of inductance
(1) 13-89H

(2) 1-389H

(3) 13888 H

(4 0138H

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1)
(2)
(3)
4)

36 cm towards the mirror
30 cm towards the mirror
36 cm away from the mirror

30 cm away from the mirror
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106.

107.

108.

109.

BIgeIo ATy <1 fepel & e # foret g
TSt STt IR IEeHT el Foll ol AT BT @

1 1:-2
2 2:-1
3 1:-1
4 1:1

S AV = Vo1 (Vg > 0) 3R ZEWE m
w1 F wwE R BEReT B - - By |
(B = T > 0) H t = 0 T Yoz a1 7 | Al Joew
# 30 goidg hI ST alreed o) ®, 9 §WE ¢ W
TEeh! L-STel qTeed ael

D %

(2) gt

(3) eEO tJ

A |1+
O[ mVO

Ao
(1+eE°t]

mVO
Se fRel u1g % I8 W IEN 2y, (I\T v, <@t
Tgft ) T TR ST AT 7, A TSI gorareri
1 3TfUhad 97 v, 8 | 99 AMfaa ot i g
G by, B G S 7, df I g W Icaldd
3éﬁvﬁ’mﬁwﬁv2@m%|v13ﬁ'(v2aﬂ

(4)

I B
1 2:1
(2 4:1
3 1:4
4) 1:2

foret eanferea werel <1 ardf-amyg 10 fire & | =fe
A § IRl i T 600 B, A1 450 TIRIHI %
foafea gm o o aren T (e o) 2

(1) 15
(2) 30
(3) 10
(4) 20

106.

107.

108.

109.

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

1 1:-2
2 2:-1
3 1:-1
4) 1:1

An electron of mass m with an initial velocity
;/3 =V, /1\ (Vo > 0) enters an electric field
}_*]> =— Eoli\ (Eg = constant > 0) at t = 0. If A, is
its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

1) Ay

(2) Ayt

3) A (1 +

[1+ eEo tJ
mVO

When the light of frequency 2v, (where v, is

eE 0 t
mVO

4)

threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5v), the maximum
velocity of electrons emitted from the same plate
is vy. The ratio of v; to v, is

1 2:1
2 4:1
3) 1:4
4) 1:2
For a radioactive material, half-life is

10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1 15
(2) 30
(3) 10
4 20
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110. foret THUAT 9 % A=A (V) T a9 (T) & a9

o=t % § S STgER BN @ | ofE e A #
STIET B dh WM hl Tisham 0 1 g fopu T Rt 3R

wésg‘r?msﬁﬁawmagm%
T B
A
0 —>T
D %
) %
® 2
@ 2

111. et g A 99 1 g0 A fhel a5 AT

q1gY % gl U (ST i g % wHe 2 |
Ife g AT I18Y I Awg 20 cm 7, a1 Gl AN
qTSY <l TETg B

(1) 16 cm

(2) 12-5cm

(3) 8cm

(4) 13-2cm

112. I & T R FGTh & o9 wEd fmdt e

ST S5 hl 28T Bl 8
1) 12-5%

(2) 6:25%

(3) 20%

4) 268%

113. TFE U W el el # a WIS YA (rms)

oA g2t % AYATSA H TR H THhA o [T A
e & St ?

GRIKCIESE

SIS % 37U T WA (m) = 2-76 x 10726 kg
S R ky = 1-38 x 1023 J K1)

(D
(2)
3)
(4)

1254 x 10* K
5016 x 10* K
8-360 x 10* K
2-508 x 10* K

110. The volume (V) of a monatomic gas varies with

111.

112.

113.

its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

o

éT

(D

(2)

6))

4)

DN WM W~ <3|

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1)
(2)
3
4)

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

1) 12:5%

(2) 625%

3 20%

(4) 26-8%

At what temperature will the rms speed of

oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

16 cm
12-5 cm
8 cm
13-2 cm

(Given :

Mass of oxygen molecule (m) = 2-76 x 10726 kg
Boltzmann’s constant kg = 1:38 x 1022 g K_l)
(1)
(2)
(3)
(4)

1254 x 10* K
5016 x 10* K
8:360 x 10* K
2-508 x 10* K

ACHLA/CC/Page 24

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



114. JUad® W It 9grd & foRet THaw I8 W R

agfad YT I ¥ MU war 7 | foRet o
YA IV 4 R A T T foh wwmafaa feRtol 3Tk
sqafia fRu Th-gEt % aFed § | FefaRed | @
Hi-a1 fashey o feufa & adt 8 2

(1) i=tan™! (lJ
n

i=sin™! (l)
U

wWafdd ThE gfad @ o sHem faga @few
HYGH o del o oTread &

wafdd Y gfad @ o soe fagq wfew

YA % d & GHR &

(2)

3

(4)

115. I & fgferdt s o, fofei & o9 9o d, 2 mm 2

aon forft @ 9 1 g D FT 100 em T gW qwRHA
A = 5896 A % YISl T IUANT foRam TR B | I AR
T T et <t shivfiT =ets 0-20° 8 | @9 (ST A 3R
D % forw) fibsti <t =hiviia =SS &1 age 0-21° &
& foru Tt & <ffer = gereRd w1 st B

1-7 mm

1)
(2) 2:1mm
19 mm

3

1:8 mm

(4)

116. forelt iiefl STvadi giaeiss 1 vy sTae sifas

3 shiofy fasig 3= im, afe saeh stfirgyees o i
BT g HH I A BT 2

B g 31T R = w1 7

Hroh gt STfireh o = Bier @

BIhd gt FH R E w1 8

(1)
(2)
3
(4)

114.

115.

116.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are

Which of the

following options is correct for this situation ?

1) 1= tan_1 (lJ
1)

. . _1(1J
i=sin | =
u

Reflected light is polarised with its electric
of

(2)

3

vector perpendicular to the plane

incidence

(4) Reflected light is polarised with its electric

vector parallel to the plane of incidence

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to
be changed to

(D
(2)
6))
4)

1-7 mm
2:1 mm
19 mm

1:8 mm

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1)
(2)
(3)
(4)

small focal length and small diameter
large focal length and large diameter
large focal length and small diameter

small focal length and large diameter
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117. fiu 7w wfmy smw #, fEw deed (V) 20V,|117. In the circuit shown in the figure, the input
Vpp =0T Vo =07 | I, I 3T o M Bl voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of I, Iy and B are given by
20V

20V

(1) Ig=40uA, Ig=5mA, B=125 1) Ig=40pA, Ig=5mA, p=125
(2) Ig=20pA, Ic=5mA, B=250 (2) Ig=20pA, Io=5mA, p=250
(3) Ig=25uA, Ic=5mA, f=200 (3) Ig=25pA, Io=5mA, B=200
(4) Ig=40pA, Io=10mA, f =250 (4) Ig=40pA, Io=10mA, =250

118. et p-n &fy e@re # M g9 @ a9 § aiEd 118. In a p-n junction diode, change in temperature
(1) pn & % o V - T sifirstemt F garfd due to heating
21 (1) affects the overall V — I characteristics of
iR % & & 3 p-n junction
- ¥ o Yy gHTrerd < {d
2 pn | (2) does not affect resistance of p-n junction
(3) oI 3 AUy <kl FuTferd <haefl & | (38) affects only forward resistance
(4) had Y cshH (ﬁaﬁ) gfeRier bl JuTferd it B | (4) affects only reverse resistance

. . - et Bt 119. In the combination of the following gates the
119. fo & faw et % i Y A SR output Y can be written in terms of inputs A and

B 9ci H 39 YhR o¥ad fehal ST Hehdl & B as

Ae Ae

Be—— o . Be
(

> v
o

Y

(1) A+B (1) A+B
(2) A.B+A.B (2) A.B+A.B
3 A.B+A.B 3 A.B+A.B
4 A.B 4 A.B
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120.

121.

122,

123.

0-5 kg m™! ¥fd 31 Trams geame <t foRet arg
afast T8 # T Faehd TMa o W S &Afes & 30°
T IV ST 7, T T 2 | 36 B I 360 e
€T JaTed hieht e Hlehd 8l a1 ST e 36 W
0-25 T ST %1 Frehid &7 Heatar foem § sl =t @
2 | D8 ! for W % fou sa yerfga g 2

(1) 11-32A

(2) 1476 A

(3) 598A

4) T7T14A

20 mH %1 s Ik, 100 pF 1 hI GRS q5T 50 Q
%1 i3 Tfatiges, fa.a1. o (emf), V = 10 sin 314 t
% forelt wra @ ooft & w9ifoa § | 39 ufwy § wifea
T B
(1D
(2)
(3)
(4)

forelt forga-grees & gat & i fagreshl gerd H
T Aol B¢ Searer foa g | 99 fogd-gres § 9/
Yalied sl S 7, 91 98 B8 &AfdS raehid & 8§ S
SO HI AR U & A B | W THR T8 B Tocd ™
feufas oo oo =t @ | U e W T STeneh
Tl LT B
(1) Y@ faga-ea I fob aftedt gradha &9 9 3=
a1 2

B & gt h ATt G
Jraehi &
forg @ra

forelt =t poeelt Aeanfier it g gufear 5 div/mA
3R Fieear guTfear (Fad $hl5 dicedl o 3cad hHIv
fag™) 20 div/V 2 | 30 AeamHie &1 afeliy B

(1) 500Q

(2) 250 Q

(3) 25Q

(4) 40Q

1-113W
2:74 W
043 W
0-79 W

(2)
3
(4)

120.

121.

122,

123.

A metallic rod of mass

0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with

per unit length

the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) 11-32A

(2) 1476 A

(3) 598A

(4) T14 A

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1) 113W
(2) 2714 W
3) 043 W
4) 079W

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
gravitational The work

potential energy.

required to do this comes from

(1) the induced electric field due to the
changing magnetic field

the lattice structure of the material of the
rod

(2)

3
(4)

the magnetic field

the current source

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 500Q
(2) 250Q
3 25Q
(4) 40Q
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124.

125.

126.

127.

Toret wafer fguar w1 3w foreft Tt i i Aot &
IS 39 H o forw fopam a7, foem Ay wey
< oETg ! uiEdt e grr aemnSa TR S Hehar
21 27°C & 9 W T H A=E 20 cm IR
73 cm B W 2 AT 3TFATE 397 BMd 7 | ARG T&f
g &1 IERT 320 Hz 7, @1 g § & & 27°C W
Ul
(1

(2)

300 m/s
350 m/s
(3) 339m/s
(4) 330 m/s

Y Q % foreft fogea Tma ufgemr @enfr ¢
&% A ITell g <l ufgemiati & fiw feR-Ggd 9o
(1) dfgehratt & <= 61 gl FeshuraTd B 2 |
(2) Uil % st H gl & A b STIHAII
B2 |

afgeRratl o o9 hl g % Washd: STIHHAT
B2 |

(4) ufgmaAi & o= i gt W T8 |

HIE et Th B Fo o H od T oeahl 8 3N
WA 3MEd gicteh i 9ifd g &9 F mW-A® i &
w e | e feufd & 5 m g W 3ES Mo H
TR 20 m/s? ® | i ST SATEdhIA &

1) 1s
(2 2s
3) ms
(4)

I3 goiael fommaen @ fhet wshem™ qum SR w1
Feaier fagd-e9 E # %5 4 7 g, h, frar g | o
e # ufemor smfaffa w@d gu swhr foum
Iohid L & STt 7 | TRl WietT o @
31 & FEaler gt h 9% 8 e e Sran @ | We
& i § fore o wm < gon § solae g frd o
INRIRIRIR: DR

(1) ==

(2) 10 TAT Afesh

(3) 5T 3fH

(4) A

3

2n s

124.

125.

126.

127.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 300 m/s
(2) 350 m/s
(3) 339m/s
(4) 330m/s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1

inversely proportional to the distance

between the plates.
(2)

proportional to the square root of the
distance between the plates.

3) the distance

linearly proportional to
between the plates.
4)

independent of the distance between the
plates.

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

1) 1s

(2) 2s

3) ms

4)
An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of

fall of the electron, in comparison to the time of
fall of the proton is

(D
(2)
3
(4)

2n's

equal
10 times greater
5 times greater

smaller
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128.

129.

130.

131.

T % TR AR Srefeeli wen # Tl 7w hi feufo
A, B 3R C W s HaArd AW K, K 3 K 7 |
AC & 317 2 7o 9 i feufa S W SB femmgem &

AT ACH A 3 | 99

(D
(2)
3
4)

Kg > Ky > K¢
Kg <Ky <K
Kj > Kg > K¢
Ky <Kg <K

T 319 Ml dled A H 7 | WAled Td H awq H
TYHTAE TS ot (K,) o @re-gne goff Tfas e
(K,) ft 8t 3 | Tt & T K, - (K, + K,) T 319
=l
(1)
(2)
3)
(4)

afe & &1 geEmE %0 AT B q A Teed TRyl
e afwm & 10 7 &, @ Fefafed § @ wha
W TE w2

(1) geeft W ‘g’ % AW | qitacd & & |

(2) YA W WA AT 1 STEAHIA HH 8 S |
(8) ol W =& 3ferek i &1 ST |

(4) a9t I ¢ et W Atk oS | e

IS 3 TIAT Yok AT § 3191 Tufufa 3187 o ufa:
od 9 § YO R T 2 | 39 M I GEEH THE
T@d gu smh B # gfg fi 9t & 1 Ma & fo
fefafea & @ s fifos afyr fer w@f 2

(1) HofE g

(2) ooff wfas Het

(3) gcd el
(4) i am

2:5
10:7
5:7
7:10

128.

129.

130.

131.

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(D
(2)
3
4)

Kg > Ky > K
Kg <Kj < K¢
Ky > Kg > K¢
Ky <Kp <K

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy

(K,) simultaneously. The ratio K; : (K; + K,) for
the sphere is

(1) 2:5

(2) 10:7

3 5:7

(4) 7:10

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1)
(2)

‘g’ on the Earth will not change.

Time period of a simple pendulum on the
Earth would decrease.

3

Walking on the ground would become more
difficult.

(4) Raindrops will fall faster.

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(D
(2)
3
(4)

Angular momentum
Rotational kinetic energy
Moment of inertia

Angular velocity
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132. 3IN@ ¥ TN IFFER S=18 h & ovoRfzd oo & gfem

form STerEe B TR Tl 1S {9, 9@ AB = D %
FHealeR g I Sh-3Neh IU HT 2 | 99 Ha18 h Eefr

B

(D

(2)

3 D

3p

(4) 2

133. 1 fovg, A : (T 3™ Tel), B : (T qaci Jamhi

FHdt) qA C : (Th JAHR Bgl), W J@F *
geqqE M qen B R ], 99 hIvig =l o | A9
Tufife 31e7i o Uitd: =hol o @ & | 32 fommaEer
% foru fhy S 9t TevEsd FET (W) % g
-9 Hoy TE R 2

(1) Wp>We>Wg
(2) Wp>W,>Wgq
(3) Wpr>Wg>Wg
4) We>Wg>W,

134, ffafad @ & SH-91 F91 9@ 2 ?

Tt o Turies <1 fomTd <rers < fowr % wmE
Bl # |

ovu 9o 3muferes Tfd w1 oy ar B |
wfqer g¥u 1 Himea qH Ao gfafsean
STHATAT Il 2 |

Arefier oo g gvv & %5 BT ? |

(D

(2)
(3)

(4)

135. GO m T T TS [eehl, 4m Goom™ o foreht

TR R ek § Hog FAT 2 | HUZ U GO
el form raEe ® o1 A ® | AN gk ek H
IR AT v &, A A UMk (e) T TH I
1) 04

(2) 08

(3) 025

4) 05

132.

133.

134.

135.

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

B

)

A

<5

() -—D

(2)

3 D
3p
2

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed » about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) WA > WC > WB

(2) WB > WA > WC

(3) WA > WB > WC

(4) WC > WB > WA

4)

Which one of the following statements is
incorrect ?

(1) Coefficient of sliding
dimensions of length.

friction has

(2)
3

Frictional force opposes the relative motion.

Limiting value of static friction is directly
proportional to normal reaction.

(4)

Rolling friction is smaller than sliding
friction.

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1) 04

(2) 08

3) 025

4) 05
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136.

137.

138.

139.

140.

I e, Fe(CO)5 8

(1) feha

(2) Trehg®

(3) Uehehoeh

(4) <AhohgH

Hiem 1 9 fgu MU arg mE @l wiem 11 § fer Mo
AT & WU gEEeh  STEOn § sy qun
@1 a1 fafdse hifvw -

B 1 PicH 11
a. Co®t 1. J8 B.M.
b. Cr** ii. /35 B.M.
c. TFedt iii. 3 B.M.
d. Ni* iv. /24 BM.
v. 15 B.M.
a b c d
1 i v i ii
@ iv i ii iii
3) i ii iii iv
@ v v ii i

Frafafaa & @ w81 3EA d-d FshAYT gWiaT § e
| SIggrhed Wi ?
(1) MnO%~

(2) MnO,

(3) Cry02”

92—

4) CrO}

[Ni(CO),] §5a I AT W& Fraehid O &
(1) e SETHid To SATgrhia
(2) o GHdel sarfufd T SgrEhE
(3) FgSHAHE SATHIT Td Sfagraehi™
(4) ot THael sfufa wd fogresha

HHA [CoCly(en),] GRI JEHRId HHTSRIEAT I THR 3
(1) ot gqTeEarn
(2) 3FAA FHEIEAT

(3) IUHSEISH GHTEII
(4) St gqeEEar

136.

137.

138.

139.

140.

Iron carbonyl, Fe(CO)jy is

(1) dinuclear
(2) trinuclear
(3) mononuclear
(4) tetranuclear

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column I1
a. Co® i. 8 BM
b.  Crt ii. /35 B.M.
c. TFeo iii. 3 B.M.
d  Ni** iv. 24 B.M.

v. 15 B.M.

a b c d
(1 i v i ii
(2) iv i ii iii
3 i ii iii iv
4) iv v ii i
Which one of the following ions exhibits
d-d transition and paramagnetism as well ?
(1)  MnO%"
(2) MnO,
3)  Cry02~
4) Cro7

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) tetrahedral geometry and paramagnetic
(2) square planar geometry and paramagnetic
(38) tetrahedral geometry and diamagnetic

(4) square planar geometry and diamagnetic

The type of isomerism shown by the complex
[CoCly(en)s] is

(1) Linkage isomerism

(2) Ionization isomerism
(8) Coordination isomerism
(4) Geometrical isomerism
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141. FfafEa sfufsrn sf@en 4 g9 3¢ P, Q 3R R

%! TEATHT :
AIC,

@ + CHyCH,CH,Cl ———5—»
M 0,
———2 __>Q+R
(ii) Hz0*/A

P Q R
OH
CH(CH,),
1) @ CH; - CO — CHy
CH(CH,),

(2)

OH
@ CH,CH(OH)CH,4

CH,CH,CH; CHO  COOH
NelNeNe
CH,CH,CH; CHO

(4)

142. f=fafiga # @ F9-m Afe Cacem a3 dwar

3?
(1)
(2)
(3)
(4)

TATEEA
TAIEh ITFA
[CIEECIES)
UERIE!

141.

142.

Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
AlCl,
@ + CHzCH,CH,Cl ———=—

(1) Og

T Q +R
(i1) H3O*/A

P Q R

OH
CH(CH,),
ey @ CH, - CO — CH,

CH(CHy),

OH
@ CH3CH(OH)CH,4

(2)

CH,CH,CH; CHO  COOH
SelNeNe
CH,CH,CH;  CHO

Which of the following compounds can form a

zwitterion ?
(1) Glycine
(2) Benzoic acid
Acetanilide

3

Aniline

4)
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143.

144.

145.

146.

147.

Tetaq srfyfsman
MnO, +Cy05 + H* — > Mn2* + CO, + Hy0

% fo wigferd wfieen & for sifirepmeht <6 &t T
&

MnO; C,07- H'
L 5 16 2
2 2 16 5
3) 2 5 16

(4) 16 5 2

ey T THIRT § HINYH Uk ‘a’ HEfd 8
(1) 79 33T &% HeT RNV gl I

(2) T ved & He ufedd fagd-aa &
(3) 9 3T & A &

(4) 79 3T & T 9

srfufsranr & f=fefaa & @S- 90 1feae scare
fmfor & fore sorerh 2,

Ay (g) + By (g) = X, (g)
3= dM g 9 o

3= 99 W@ A 79

= a9 wd f= T
1 a9 v 3= T

AH=-XkJ?
1)
(2)
(3)
(4)

Xy, Yo 3R XY I 1wy foRiioH SHleti &1 Tuma
1:05:1 8 | XY &% fmwm # wdedh
AH = — 200 kJ mol™! B | X, # 31mae fGarsm i
it
(1)
(2)
(3)
4)

v Sifieie Y IRfEe T g R S @,
@ I Hife AR % for o7¢d-31y FraA

(1)  IriEfdd w8

(2) fergem grem 2

(3) TIMB@

(4) 3741 Bl @

400 kJ mol*
800 kJ mol ™!
100 kJ mol™*
200 kJ mol

143.

144.

145.

146.

147.

For the redox reaction
MnO; +Cy0%” + H'—— Mn®" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
D 5 16 2
2 2 16 5
3 2 5 16
@ 16 5 2

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1) forces of attraction between the gas
molecules
(2)

electric field present between the gas
molecules

3
4)

volume of the gas molecules

density of the gas molecules

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g +By(g) = X5(g) A H=-XkJ?
(1) High temperature and low pressure
(2)
3)

(4)

High temperature and high pressure

Low temperature and low pressure

Low temperature and high pressure

The bond dissociation energies of X,, Y, and XY
are in the ratio of 1: 0-5 : 1. AH for the formation
of XY is — 200 kJ mol™l. The bond dissociation
energy of X, will be

(1) 400 kJ mol*
(2) 800 kJ mol*
(3) 100 kJ mol*
(4) 200 kJ mol*

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(D
(2)
3
4)

remains unchanged
is tripled

is doubled

is halved
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148. ffafaa & @ forg o1 o ad @ Q¢ o AR §

sp?, sp?, sp, sp HeHIIT ST ST & ?
(1) CHy- CH = CH - CHy
(2) CH,=CH-CH=CH,
(3) CH,=CH-C=CH

4) HC=C-C=CH

149. ffaflgd & @ - wEyaEE gaifies T

aferd g 2

NO,

NO,
y/ &
NO,

s

(1)

=<

(2)

3)

Y H

NO,

4) o
Y

150. f=fafiga & @ wfqeemuent & -1 9@ & ey #
HH-A wE 2 ? (R = Ufewa)

(1) —NRy>-OR>-F
(2)
(3)

-NHy>-OR>-F
—-NRy<-OR<-F

148. Which of the following molecules represents the
order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

(D
(2)
3
(4)

CH; - CH=CH - CHyg
CH, =CH-CH = CH,
CH,=CH-C=CH
HC=C-C=CH

149. Which of the following carbocations is expected to

be most stable ?

NO,

NO,
©]

2

2

@

<o

Y
N

(0]
Y H
NO

Y H

e))
(2)
3
(4)

150. Which of the following is correct with respect to

— I effect of the substituents ? (R = alkyl)
(1) -NRy;>-OR>-F

(2)
(3)

-NH, >-OR>-F
—-NRy<-OR<-F

(4) -NHy<-OR<-F

(4) -NH;<-OR<-F
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151.

152.

153.

154.

vow Sife wa T wife srfufranst § et faftremn 2
(1) vum wife &t Affspan w1 o sifiers 6t
Trgaratt W v st g; g sife < stfafsean
1 97 ITfieRTes I Fgared w AW @ s
3

o whife s 3rfufskan =1 Ifa foham s gekan
; feda =ife 1 srfifsran &1 3R 7@t foram s
Tehel B

S9H TS <hl Aflsha Al 31d-317 [A], T s
Td #; fodfa wife 6 sifufean 1 srdamy (A,
W faf R

g Hife H Ak w1 A Afwrs H
Fgaret | R T e §; fgdm @i &
arfyrfshan w1 9 iR St Tt WAt
HT B

CaH,, BeH,, BaH, § 3T Jehid T U 3

(1) BaH, <BeH, < CaH,

(2) BeH, < BaH, < CaH,

(3) CaH, < BeH, <BaH,

(4) BeH, < CaH, <BaH,

Jra feu U e #, s f ATt srewen #
itera fafie faar. o (emf) AFT W g0 TR

- 182V - 15V
BrOy — BrO3 —— HBrO

(2)

3

(4)

Br <T0es2v B2 “1hesv
H-E TS STEHTIe 8 T 7 2
(1) HBrO
(2) Br,
(3) Bro;
(4) Bro;

form feufa & STat & 1ot 1 T ftreram B 2

(1) 10739 I & ferg

(2) 1atm T 273 KW 0-00224 L St 9159 & foTw
(3) 018 g3t & faQ

(4) 18 mL < & forw

151.

152.

153.

154.

The correct difference between first- and

second-order reactions is that

(1) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend

on reactant concentrations

(2) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed
the half-life of a first-order reaction does not

depend on [A]l); the halflife of a
second-order reaction does depend on [A]

3

the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(4)

Among CaH,, BeH,, Bal,, the order of ionic
character is
(1) BaH,; < BeH, < CaH,

(2) BeH, < BaHl, < CaH,
(3) CaH, < BeH, < BaH,
(4) BeH, < CaHy < BaH,

Consider the change in oxidation state of

Bromine corresponding to different emf values as
shown in the diagram below :
- 182V - 15V
BrO, — BrO3 ——> HBrO

Br

«— B
10652V 2 1595V

Then the species undergoing disproportionation
is

(1
(2)
3
4)

HBrO
Br,

BrOZ
Brog

In which case is the number of molecules of water
maximum ?

(1)
(2)

1072 mol of water

0-:00224 L of water vapours at 1 atm and
273 K

(3) 0-18 g of water

(4)

18 mL of water
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155.

156.

157.

AMfieh A o Na @ 1Rfshan @™ W a8 B ad1 & 991
PCl, % @1 Tffha F@H WA C a2 | BW C
A1 H Ty O rfufr e W osEuite e ar

BaT2 | A, BANMCHA T
(1) C,H;OH, CyH;ONa, C,H;Cl
(2) C,H;Cl, CyHy, C,H;OH
(3) CyHyOH, C,H,Cl, C,H,ONa

(4) C,H5OH, CyHg, CoHsCl

BIEgIhEA (A) S & gfaead= grr 3Tfrfshan oteh
% Uoha SmEE o @ S fh 9w srfufean g
et gregrpre # ftafda grar @ foem f6 =) @ @m
e T § | (A) 7

(D
(2)
3
4)

CH,
CH, - CH,
CH2 = CH2

CH=CH

T Ak C, Hy Tfafaa stfufsransti & Torar 2 -

3 Clz/A Brz/Fe Zn / HC1
A B

C;Hg C
3G C' 7

(1)  p-SHIEiEd

(2)  3-5M1-2,4,6-TRFARISIASA

(3)  o-SWRIgH

(4)  m-SHRIgE

158. argHsel # Wi wd e fohnedt 2t & ffifa Arsgism

I HH-HT SATFATES TRV TeTh Tg7 & 2
(D
(2)
(3)
(4)

NO
N,O
NO,
N,Oj

155.

156.

157.

158.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,H5OH, C,H;ONa, C,H;Cl

(2) C,HsCl, C,Hy, C,HOH

(3) C,H5OH, CoH,Cl, C,H;ONa

(4) CyH5OH, CoHg, CoH5Cl

(A) by
substitution to form an alkyl bromide which by
Wurtz to
hydrocarbon containing less than four carbon

Hydrocarbon reacts with bromine

reaction is converted gaseous

atoms. (A) is

(1) CH,

(2) CH,- CHj

(3) CH,=CH,

(4) CH=CH

The compound C;Hg undergoes the following

reactions :

3ClL,/A Br,/Fe 7n/HCI
2L A2 B = C

7Hg
The product ‘C’ is

(D
(2)
3
4)

p-bromotoluene
3-bromo-2,4,6-trichlorotoluene
o-bromotoluene

m-bromotoluene

Which oxide of nitrogen is not a common
pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) NO
2 N0
3)
4)

NO,
NyO5
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159.

160.

161.

162.

163.

2:3 g HifHeh A YT 45 g FATTh A I TTg
H,S0, § T3 tam W 3cafsia e fasmr st KOH
% Bl ghel ¥ TN 9T & | STP W &= §T 391G
T IR (g ) g

(1) 44

(2) 28

(3) 30

4) 14

e vd Ufienfeen # fafiear g

(1) U o Ud e | o1 8

(2) Ufieufdea ¥ 1 4 o999 91 1 > 6 B-FEF 7
(3) UMM A 154 qdgT a1 > 6 p-aeT

(4) UyemfEE g1 5 4 q999 dA 1 > 6 o-994
H

fFrafafga @ @ oF-d Afeugs H gaifas et
Tepid & ?

(1) CaO

(2) BaO

(3) BeO

(4) MgO

el &1 TR Yad el wieaw H O W
m-TTEINefA oft ST 8 wifes

(1) 3r<cfig (veat) aresm | Uets Ufefifem eme
FETH A R |

yfoeamoes i erqufeafd § A1gd THE wEeN
m-ferfa o Smar 7

saeEE ufaeemgq ifufsen & Wi g
m-Feeehr B |

gfaeTash i IfeAfd o SMasg AEel g s
Had m-fEafd WH Jar 2 |

firieh g 3To@T TR Sghi o HeH | Ffafad §
T DHH-AT HIT G 8§ ?

(1) 3T S5 WA H 9 HgHASeh Y
Fd 8 |

FehelTse T HeAmiv $Eeh I § |

3 fgfsramens wa fifsrarcnes @@l & o |
A 2 |

T fafm W wges geest % W=
TgHIISTh €Y B 8 |

(2)

3

(4)

(2)
3

4)

159.

160.

161.

162.

163.

A mixture of 2:3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

(1) 44

(2) 28

3 30

4) 14

The difference between amylose and amylopectin
is

(1) Amylose is made up of glucose and
galactose

(2) Amylopectin have 1 — 4 a-linkage and
1 — 6 B-linkage

(3) Amylose have 1—4 o-linkage and
1 — 6 p-linkage

(4) Amylopectin have 1—4 o-linkage and

1 — 6 o-linkage

Which of the following oxides is most acidic in
nature ?

(1) CaO
(2) BaO
(3) BeO
4) MgO

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(D

In acidic (strong) medium aniline is present
as anilinium ion.

(2)

In absence of substituents nitro group
always goes to m-position.

(3) In electrophilic substitution reactions

amino group is meta directive.
(4)

In spite of substituents nitro group always
goes to only m-position.

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?
(1)

They contain strong covalent bonds in their
polymer chains.

(2)
3

Examples are bakelite and melamine.

They are formed from bi- and tri-functional
monomers.

(4) They contain covalent bonds between

various linear polymer chains.
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164. F=fdfeq fae=ai = NaOH W HCl < fim-fir

165.

166.

167.

Hrgdrsli T 3Tl o f{%or & s=mn T B

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

T4 © frgert pH, 1% SR 81 2
(1)
(2)
3
4)

T o0

frefafed & @ F9-8 0 | WA H Thed wHa
it wedft 2 2

(1) hddl IRE & 3Maw fog W

(2) T % AN YA TF AN Foag g1 W

(3) had AT & IR T

(4) had IR S A GRATT T

BaSO, #1 298 K W 5a # faerar 2-42 x 1073 g1
& | fororar ot (K ) 1 7H g

(fea T 8 BaSO,, 1 AieR e99H = 233 g mol 1)
(1) 108 x 1078 mol® L2
(2)
(3)

(4)

1-08 x 10" mol®2 1.2
108 x 1072 mol? L2

1-:08 x 1079 mo12 1.2

NH,, H,, O, @1 CO, % fou arst aew oo
HAM: 4-17, 0-244, 136 W 359 feu ww ¥ |
fFrafafea @ @ =H-H g o8 @ @ gfaa g8 S
77
(1)
(2
3
4)

164. Following solutions were prepared by mixing

165.

166.

167.

different volumes of NaOH and HCI of different
concentrations :

a. 60mL M HCI + 40 mLL M NaOH
10 10

b. 55 mL E HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
1) ¢
(2 d
3) a
4 b

On which of the following properties does the
coagulating power of an ion depend ?

(D
(2)

The sign of charge on the ion alone

Both magnitude and sign of the charge on
the ion

6))
4)

Size of the ion alone

The magnitude of the charge on the ion
alone

The solubility of BaSO, in water is
2:42 x 107 gL_1 at 298 K. The value of its
solubility product (Ksp) will be

(Given molar mass of BaSO, =233 g mol 1)
(1) 108107 mol® L
(2)
3

4)

1-08 x 10" mol® L2

1-08 x 102 mol® L2

1:08 x 107 mol® L2

Given van der Waals constant for NHs, H,, Oy
and CO, are respectively 4:17, 0-244, 1-:36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) CO,

(2)
(3)
4)
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168.

169.

170.

171.

T T o= (X) ¥ ATk W T I
Aifies s 7| A (X)) w1 Feam oremenm #
3@?{7‘&@%7&1'{1 152 2g2 2p3%,?ﬁ3'€-f?ﬁ'ﬁ'ﬁ?ﬂ
T g7 7
(1) MggX,
(2) Mg,X
(3) MgX,
(4) MgyXy
SITRA <t HHL & q9 W bee T It 8 | 900°C &
FW Ig fec BT H uREfdd &1 Il 8 | TR &
% 9 W TFed T 900°C A9 W Hed | 3TUTd &R

(W RIT ST 1 AR GeaHH Td AT s ar
% @y feer 8)

1 =
33

442
443

(2)

3

3J2
J3
@
Frafafaa & @ wH-a1 FeH @ § 2
1 desfTUmEFaE =R |
(2) N UTHI] Sl o= fo=rmd
1s2 252
PO LR R
T HeTeh di9 Fdien gesn ¥ fAféy & S«fs
Th T H Tsh gEgH IR FdieH HEArsdl @
fféz 2 |
‘s HeTH H TG Bl A heleh BV FAT
I % R |
Freafefea wfiefier @ foem Hifs -
CN*,CN~, NO da1 CN
T ¥ frad S=au ey Hife 7 2
(1) CN
(2) CN*
(3) CN~
(4) NO

3

(4)

168.

169.

170.

171.

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 15 252 2p3, the simplest
formula for this compound is

(1) MggX,

(2) MgoX

(3) MgX,

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fcc structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

(D

N |

33
442

43
3v2

J3

J2

Which one is a wrong statement ?

(1)

(2)
6))

4)

The value of m for dZ 9 is zero.

(2)

The electronic configuration of N atom is
1s2 2s2 Zp;lz Qp; Zp;

o LY

An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

6))

4)

Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) CN
(2) CN*
(3) CN~
(4) NO
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172. gl & fou fafafga § @ 991 e 9@ 787 |172. Which of the following statements is not true for
29 halogens ?
(1) Tt 1 waifes gorei Tew Toed 2 | (1) Chlorine has the highest electron-gain
_ enthalpy.
(2) WARM % A @ft oA STTeIeR . i _—
st ot ¥ | (2) All but fluorine show positive oxidation
states.
3w . 2l i (3) All are oxidizing agents.
4) wiT E 2l (4)  All form monobasic oxyacids.
. 3— =g
173. fed § § A a MF6 Al | 173. Which one of the following elements is unable to
e B 2 form MF, ion ?
EI; ;n (1) In
2
2) B
(3) Al
(4) Ga (3 Al
. . 4 G
174. CIF; & & # %5 WA ‘C W THEh g0 @ Ga
FAGZHI Shl T B 174. In the structure of CIF3, the number of lone pairs
1) & of electrons on central atom ‘Cl’ is
(@) =) (1) three
3 @ (2) four
4) (3) two
. . . (4) one
175, Uferem 3@ ®I =9 # W@d g¢ ffafgd § ¥
FH-H oTq I Q@'&HT ¥ = § fear | 179 Considering Ellingham diagram, which of the
T 2 2 following metals can be used to reduce alumina ?
1) Cu 1) Cu
(2) Mg 2 Mg
3) Zn ®  Zn
(4) Fe @ Fe
176. fmfafiga § @ 7 13 & ol # wATvaes Brswned & 176. The correct order of atomic radii in group 13
F T 29 elements is
(1) B<Ga<Al<In<TI (D B<Ga<Al<In<Tl
2) B<Ga<Al<Tl<In (2) B<Ga<Al<Tl<In
3) B<Al<Ga<In<Tl 38) B<Al<Ga<In<Tl
4) B<Al<In<Ga<Tl (4) B<Al<In<Ga<Tl
177. Nfepi o el atfaelieror sraeanatl &1 wear o 177. The correct order of N-compounds in its
) it 3 decreasing order of oxidation states is
Exl
(1) NH,CI, Ny, NO, HNO (D NHCL Ny, NO, HNO;
4~ 22 ’ 3
(2) HNO4, NH,CI, NO, N,, (2)  HNOz, NH,CL, NO, Ny
(3) HNOg, NO, NH,CL, N, (3)  HNOg, NO, NH,Cl, Ny
(4) HNO,, NO, Ny, NH,CI (4)  HNO3, NO, Ny, NH,CI
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178. 39 37fufsean

179.

OH O™Na*
@ + CHClg + NaOH ———> @ CHO
4 wfeaferd soigi el
(1) eEFAREA (:CCly)

)
STSFATIHTIA ST (CHCly)

(2)

®
(3) wifdd gamA (CHO )

®
(4) SRFANHISA “4RH (CHCl )

FAFH(AR A b FALAH GG AT FeIHH
I Ufcegssl, ISl 9o I8 % foh Uchlgial 4
S BId 2 | I8 foheeh Rl gt & ?

(1) FaUeTIvge gEgie 98 s o

(2) HIaTfedfcish Tl i AfYh AR TUE TS
Ted SATHIU Sell o gRT Bl &

IR 3T o a1
I AT FESIo qo a4 9

3
(4)

180. T IIfik & A, CgH,,0 S 6 NaOI (Y i s1ffsman

NaOH ¥ &teh =1 7)) | 1ffshan ek ennafors
Y ot diel S8y a1 @ |
A I Y AT B

CH,

1) CH, @ OH ¥R I,
(2) @— (le — CHy 3R I,
OH

¢ - CH, - CH, - OH s I,
HyC —_ ) CH, - OH st

(3

(4)

178. In the reaction

179.

180.

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

(1)  dichlorocarbene (:CCls,)

©
dichloromethyl anion (CHCl,)

®
formyl cation (CHO )

(2)
3

@
(4) dichloromethyl cation (CHCl)

Carboxylic acids have higher boiling points than
aldehydes, of
comparable molecular mass. It is due to their

(D
(2)

ketones and even alcohols

formation of intermolecular H-bonding

more extensive association of carboxylic
acid via van der Waals force of attraction

3
(4)

formation of carboxylate ion

formation of intramolecular H-bonding

Compound A, CgH,,0, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

CH,

(1) CHj G OH and I,
@ ¢ ) CH-CHyand,
|

OH

¢ M- CH, - CH, - OH and I,
4 HeC— ) CH,-OHand 1,

3
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Read carefully the following instructions :

1. Each candidate must show on demand his/her

L t@ H W Sl.i Ih qﬁ?m@ﬁ, rlieres =l a1 Admit Card to the Invigilator.
NCRIRCE ﬁ@'rq“
! . No candidate, without special permission of
9. arefiers @ Trfees 6 R Wﬁ' ¥ o the querintendent or Invigilator, would
Eﬁé e W T B | leave his/her seat.
. . The candidates should not leave the
3. HRg e + 31 IW A ﬁ{Q for uq Examination Hall without handing over their
Iuferfagas @ AN BEAIER feru fomm =8 Answer Sheet to the Invigilator on duty and
wfemelf wfien wfer =g ?ﬁ@ﬁ | 'ﬂﬁ{ et sign the Atten.dance Sheet tvvi'ce. Cases
w3 ar e = where a candidate has not signed the
& . i3 r ) Attendance Sheet second time will be
gEaTer g ﬁFQ A gg =T S for 3@ deemed not to have handed over the
S UA q'gi"f et % AR I3 313'%!?[ agq Answer Sheet and dealt with as an
hHT HTHAT WHT SATUT | unfair means case.
e o o ¢ . Use of Electronic/Manual Calculator is
4. SAFCIHh/[ETHTAd TlLeheTeh bl IUINT JIS(d -
% prohibited.
|
. The candidates are governed by all Rules and
5. Tegia ° = & foru ghemeff qfierm < Regulations of the examination with regard to
ot QEI et e Tt &) 313'&[?1 their conduct. in the Exe.xmmatlon Ha}l. All
e ¥ o S g 8 = qleT % cases of unfair means will be dealt with as
o . per Rules and Regulations of this
i ud faf-remi < SafeCSIRN @TIT | examination.
6. frell ot grea d qdien jl(;\ddwl 3T 3¢ g3 |6 No part of the Test Booklet and Answer Sheet
F ﬁé AT 37T T L | shall be detached under any circumstances.
. . The candidates will write the Correct Test
7. qﬁ&ﬂ EIEEIEBIEEI( EER %quﬁm gliilﬂ;! Booklet Code as given in the Test
Hehd Rl qlraqreft Fl@ ol 9 Iufeafaases o Booklet/Answer Sheet in the Attendance
fag | Sheet.
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